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B.Tech., IV Semester
Examination, June 2022
Grading System (GS)
Mathematics - 111
Time : Three Hours

_ Maximum Marks : 70
Note: i) Attemptany five questions. '

f5=81 ata mesti Y et IR
i1) All questions carry equal marks.
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iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Use Newton’s formula for interpolation to find thg net
premium at the age 25 from the table given below: 7
Age 20 24 28 32
Net Premium 0.01427 0.01581 0.01772 0.01996
ngasqg?ﬂwu’maﬂ% T ot R sicder v gy
25 Pt 3y W e st s |
20 24 - 28 32
:-lg Afw  0.01427 0.01581 0.01772 0.01996

Raphson’s method find the real root of
7
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b) Using Newton-
¥ -x-10=0.
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4. a) Find Laplace transform of /()= {

(2]

a) Solve the simultaneous linear equations using Crout’7s
method. ‘
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X, tx, tx= 1
3x, +x, = 3%, = 5
x, —2x,— 5% = 10

b) Evaluate L:logxcosx dx by (i) Trapezoidal rule

(ii) Simpson 3/8 rule. 7
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3. a) Find(0.1) for differential equation 'dlx =x’y-1, w0)=1

using Taylor’s series method. | 7
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b) Solve xy”+y’+xy =0, where y(0) =1, y(0) = 1 for
x=0tox=15 7
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b) Find the Fourier series for periodic extension of

b)

/()= 7

sinf, 0<t<r&
0, #n<tt2x

f(!)m{sint, 0<t<rx %mmﬁw

| 0, #z<t<2x
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If ‘m’ balls are distributed among ‘a’ men and ‘b’ women
show that the probability that the number of balls received

by men is odd, shall be https://www.rgpvonline.com 7
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Two independent random variable X and Y are both
normally distributed with means 1 and 2 and standard
deviations 3 and 4 respectively. If Z = X - Y, write the

probability density function of Z. Also state the median,
s.d. and mean of the distribution of Z. Find P[Z + 1 < 0].
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Given that logx for x = 310, 320, 330, 340, 350 and
360 are according to following table. Find the value of
log 3375. 7
logx & x = 310, 320, 330, 340, 350‘23’ 360 W HH
for=ifene |t 3 21 log 3375 &1 919 adgd |
310 320 330 340 350 360

24913617 25051500 25185139 2.5314789 3.5440680 2.5563025

Use Runge-Kutta method to approximate y, when x = 0.1

and x = (.2, given that x =0 when y = 1 and %= x+ty. 17
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Use Milne’s method to solve % =Xx+y with initial

condition y(0) = 1, from x = 0.20 to x = 0.30. 7
ARFND S y(0)=1F |rr %=x+y P x=0203
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Prove that for normal distribution, the Quartile Deviation
(QD), Mean Deviation (MD) and Standard Deviation (SD)

followsQD:MD:SD::10:12:15. 7
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Prove that A 7
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